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40-40 = 00
x3,(+)  3L

2040 = 600

x3,(-)  6L
60-40  I 2 00
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M-l9 t;u I ,

m$u  Bada BB~i?%utiJ

x14 +x14-xll+x31-x34 +7-3+3-6 = +l

x21 +x21-x31+x34-x24 +l-3+6-3 = +1

x22 +x22-x24+x34-x31+xll-xl2 +5-3+6-3+3-2  - +6

x23 +x23-x24+x34-x31+xll-x13 +4-3+6-3+3-3  I +4

x32 +x32-x12+xll-x31 +5-2+3-3 = +3

x33 +x33-x13+xll-x31 +4-3+3-3 = +l
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1 2

1
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2 OL

10 +5 LOL
*3 30

40
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3 -1 L+2 k@k@k 8o

3 2 5

9

0

-2

1

u.4
liUb1  1 Ffluw

44  ’
ui !!-a=

v1
MZITDJ basic cells

ul=O  : ul+vl  -3 ; v1=3

LL%  "w : u1 + v2 = 2 ; v2 = 2

v153  : u2 + v1 E-  1 g u2 = -2

u2 = -2 ; u2 + v4 = 3 ; v4 = 5

~4-5  ; u3+v4  =6 ; u3=1  i

U3"1  ; 3u +v 3 54 ; V3%3 ~
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I
'ij' i j(U +V > d*'IMS"U"d'ilQ  nonbasic cell

=13 - (u, + v,) - 3 - (3  + 0)  P 0

Cl4 - (u, + v4> = 7 - (0  + 5)  = 2

c22 - (u, + v,> = 5 - (-2  + 2) i 5

c23 - (u, + v3> = 4 - (-2 + 3) = 3

=31 - (u, + v,> = 3 - (1 + 3) E -1

c32 - (u, + v,) = 5 - (1 + 2) = 2

nonbasic cell
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-9..  a..  I.  I*..*

1 2 3 4 ;a Gal

3 2
1 LOL70 150

4 3
2 LOL40 40

?JatTA,n;  ?%I
x11 P 80, xl2 I 70, x24 = 40

x31 - 10, x33 - 50, x34 = 20

E (80x3)  + (70x2)  + (40x3)  + (10x3)  +

(50x4)  + (20x6)

P 850  lnM
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V.
J

fluw ui

u1 - 0

ui?=

v1 - 3

u3 = 0

v4 = 6

i

i

3 2 4 6

.I

ul+vl = 3

u+v ma2
1 2

u + v  =33 1

u + v  =43 3

u +v4 = 63

u2 + v4 = 3

i v1 =3

i v2 =2

i u3 DO

i v3 - 4

i v4 am6

i Uzom 3

0

-3

0
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Cl3 - (u, + v,> = 3 - (0 + 4) - -1

cl4 - (u, + v4' - 7 - (0 + 6) = 1

C21 - (u, + v,) - 1 - C-3  + 3) = 1

=22 - (u, + v,) = 5 - (03  + 2) - 6

‘23 - (u, + v,> = 4 - (-3 + 4) = 3

‘32 - (u, + v2) = 5 - (0 + 2) - 3

.
u? xl3 ~~~~~f$ku Basis

4
lm lh “13 R’il  + Xl3 - Xl1  + x31 - x33

wn;;W~~U;PrlldnJZ?iu~~~,~~ 7-32 id

Vl~W;f  7-32

fi9mnirwan

1 2 3 4 6FJ rhl

1 ($+p(# IL ‘5O

4 3
2 igL4 0 40

6
3 0 If

6 0
14 ,OL2 0

80

fmtl&m~f
auRy?&L~u 90 70 50 60 270
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ua~w;ln~8
x11 = 3 0 , x12 = 70,  Xl3 = 50

3 3 2 3 6

3

0

3

0
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V-J
'IIUUM 1 -?liU?U  Qi ttrli

vJ
ikhk b a s i c  b e l l s lLIId u1 = 0

ul=o ; ul+vl=  3 ; vy3

u +v1 2 =2  ; v2=2

u +v -3  ;
1 3 v3 = 3

VII 3 ; u3+v1-  3 ; u3=o

u3 -0 ; u3 +v4 = 6 ; v4t6

v4  I 6 ; u2  + v4  a  3 ; u2 I -3

&ii 2 emla,~~
I

=ij-  i j(u  +v  ) diV<U~?lj  nonbaeic  c e l l s

=14 -  (u,+v,>  = 7-(0+6)  = 1

=21 - (u2+v1) = 1  -t-3+31  = 1

=22 - h2+v2) = 5-t-3+2)  = 6

‘23 - (u2+v3) = 4-C-3+3)  = 4

‘32 - (u3+v2) = S-(0+2)  = 3

=33 - (u3+v3) = 4-to+31  = 1
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I xl2

x21

x23

x33
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fl,mi 7-35

WN t%.l
YxN?kllln)J

+x12-xll+x31-x32 +2-l+l-2 -0

+x21-x31+x32-x22 +4-1+2-3 P2

+x23-x13+x11-x31+x32-x22  +5-2+1-1+2-3  = 2

+x33-=13+xll'x31 +3-2+1-l =l



200

fJn~~;~?llL;i7~411l.l~VI~~ '11 - 0, x12 - 40, Xl3 = 80

*22 - 160,x31  = 140

;uyl;78uz;~*?u6j~3p1 - (40x2) + (8Ox2) + (160x3) + (14Oxl)

e 860 llm
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nmd 7-37
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mmi!  7 - 4 0

tiuffnnm
1 2 3 4 5

n7f 491

5 1

1 kL yGJk@  LJ-90 2oo

3 4
2 0, L.OL20 100

h
50

l.hlUR2711
GawdwG 80 90  100 70  60 400

0
mmy:4 I 4

xl2 - 90, xl4 - 50, xl5 = 6 0

x21 = 80, xz3 = 20, x33 = 30
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n1mi4  7-43

I I I I I I
I

1 1

1 1

3* 2

2

2

6

2 2 0

2 2 -

2 - -

2* * -

3 - -

3* - -

45

65

45

75

230

* *
62222%&-

5 1 1 1 1 1 6 6

l+  , 3*-  - - - -

*
3Zll----

x12
P 35, x 1 5 - 10, x 21 m 20, x22 = 5

X23 = 40, x31 =I 45, x43 = 20, x44 = 55

= 1 1 3 5 MM



# * 44-l
wa~~~~pl?lltL!?au7uwncl?n~a x14 = 35, x15 = 1% x-21 P 20, x22 - 40

x23 = 5, x31 = 45, x43 = 55, x&4 I 20

& x14 = 35, x15 = 10, x21 - 20, *22 1.40

x24 I 5, x31 I 45, x43 - 60, xu - 15

,;,ua,,ll,l,,,,~~,;r,, - 1,100 lm
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3 8 2

1 2 2 26 2 0 2 1 450

2 21 2 4 2 0 21 300

3 1 8 2 0 19 2 0 250
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mad 7-45

2 1
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1 11 1190
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&mr 200 340 150 270 40 1000

e?ti;1  QWIJ I 2 1 1 0

un45 1 1 1 0

*.
3 - 1 1 0

1 I 0

19 20* 0

19 0

0

” ‘-r  y4
P~s~BlLlaJnURa x11 = 110, x - 340,1 2 x21 - 90

=24 P 210, x 33 - 150, x 34 = 60

- 40 ~lf~~~~ii 3 %iGmdhia~a~

nilrrw~Af% x3521,610 31~
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3 8 5

X Y 2

A 70 50 20

B 8 0 90 30

c 50 40 7 0
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2.1 Northwest corner rule

2.2 North to South row rule

2.3 VAM

Northwest corner rule



fy+  LMY~ 5 10 8 3

M1541Bj 15 3 20 10

Fpkwmi7i1 6 22 18 12

1%&l; 8 25 2 70
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Stepping Stone
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1 5 1 15

2 15 2 25

15

4 IO

11 IOIO 66 2020 1111

22 1212 77 99 2020

33 66 44 1616 1818
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